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sInteger:

*string:
ereal:

var

positionl: string;
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X, Y, Z

var
X, Y, z:. real;
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real

var
X, Y, Z: real;
begin
X :=12.0;
y :=13.3 + X;
z:=(x+17.2)* (121 - (y / X));
end.
X 1.2x 101
y 2.53x 101
Z 3.471637x 103







Pascal

V:=3.14159 *r *r * h;



1. r
2. h
3.V =11 r2h



program CyllinderVolume(input, output);
var
r, h, V: real;
begin
writeLn(' ),
readLn(r);
writeLn(' );
readLn(h);
V = 3.14159*r*r*h;
writeLn( "V, ),
end.




program CyllinderVolume2(input, output);
var

r, h: real;
begin
writeLn(’ ),
readLn(r,h);
writeLn(’ ' 3.14159*r*r*h,' );

end.
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savings Interestrate
Pascal

savings := savings + savings*interestrate ;



1. savings
2. Interestrate
3.savings .= savings + (savings*interestrate)

4.savings



program FindSavings(input, output);
var
savings, interestrate: real;
begin
writeLn(’ (
readLn(savings);
writeLn( ),
readLn(interestrate);
savings := savings + (savings*interestrate);

writeLn(’ ', savings:6:2, "

end.



X=2,y=3,z2z=4

result :=x +y* z;

+ result = 20
* result = 14.



1. *
2. +, -

X=2,y=3,2z=4 result :=x +y * z;
14.



X=6,y=2,2=3 result :=x/y*z

(6/23=9  6/(2*3)=1

result .= (x+vy) *z; result 24).
result .= x + (y*z); (result 36);
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ErrorDemo

program ErrorDemo(input, output);
var
data, extra: real;
begin
readLn(data);
readLn(extra);
data := data + extra;
data := data - extra;
writeLn(data:30:2);
end.



data = 100
Extra = 100000000000000000000000
data = datatextra
= 100000000000000000000100
= 100000000000000000000000
data = data- extra
=0
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v(r, h) = 1t r°h
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